Checkpoint 6A

Problem 6-29
Rewriting Equations with More Than One Variable

Answers to problem 6-29: a: y=§=‘5§m:%x—2, b: x=9§;§’~, cr
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Rewriting equations with more than one variable may be done in a variety of ways but normally
you follow the same steps as you would for solving an equation with a single variable.
Commonly, the first step is to multiply all the terms by a common denominator to remove all of
the fractions. Then solve in the usual way. Collect like terms. Isolate the specified variable
terms on one side and everything else on the other. Finally, divide or undo the exponent so that
the variable is alone. The final answer will be an equation that involves variables and possibly
numbers.

Example 1: Solve fory: 2x+3y-9=0

Solution: 2x+3y—-9=0 problem
3y=-2x+9 subtract 2x, add 9 on each side

y="22  divide by 3

Yo — %— x+3 simplify

Example 2: Solve forr: V= 53— 7

Solution: V= % zr®  problem
3V =4zr® multiply by 3 on each side

W 3 divide by 47

3(3V _ .
,}41{ =y cube root

Now we can go back and solve the original problems.

a. —3x+5y=-10 b. y=mx+b c. A=azmr
5y=3x-10 y—b=mx %21.2
ym’a‘-\‘sﬂ %=x
y=4x-2
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Here are some more to try. Rewrite each equation for the specified variable

1.
3.
5.

&

11.

13.

15.

Answers —

2x—3y=09 (forx)
5x+3y=15 (for y)
2w+ 2l =P (for w)
I=£ (forR)

¢? =a? 4+ b? (for b?)
S=4nr? (forr?)
a?+b=c? (for a)

A=Lh(b +b,) (for b))
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I. x=3—y2J£
3. y:1535x
5. w=%2’
7. R=2

9. b=c2-g2
11, #2 =L
13. a=4c2—b
15. by=24-p,
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12.

14.

16.

2x—3y=9 (fory)
4n=3m-1 (for m)
2a+b=c (fora)
y:%x+1 (for x)
V =s3 (fors)

m= ﬂ%’j’—‘ (for a)

L= m (for a)

V =L mr?h (for h)

_ 2x-9
Y=

_ Antl
= 3
=e=b
a="3
x=4(y=1)

s=3V

a=3m-b-c

a=L
m

h=3
Tyl
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